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QUESTION NO: 1

WS-BPEL is a technology that can be used to express service composition logic for SOAP-based Web services. Select the 
correct answer.

A. True

B. False

ANSWER: A 

QUESTION NO: 2

Which of the following service technologies is primarily associated with service discovery? Select the correct answer.

A. RPC

B. DTD

C. UDDI

D. SAML

ANSWER: C 

QUESTION NO: 3

Data model transformation is a core service function that can be performed by proven technologies that have been around 
for years. Therefore, it is recommended that you look for opportunities to apply this technology wherever possible, especially 
in larger, more complex service compositions. Select the correct answer.

A. True

B. False

ANSWER: B 

QUESTION NO: 4

The acronym SOAP was originally defined as: Select the correct answer.

A. Simple Object Access Protocol

B. Service-Oriented Access Protocol
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C. Service Object Access Parameters

D. Simple Object Acknowledgment Protocol

ANSWER: A 

QUESTION NO: 5

Which of the following are industry standard technologies related to the processing of XML-based data? SELECT ALL THAT 
APPLY

A. XData

B. XQuery

C. XSLT

D. XWeb

ANSWER: B C 

QUESTION NO: 6

Which of the following are valid HTTP methods? SELECT ALL THAT APPLY

A. Get

B. Upload

C. Put

D. Delete

ANSWER: A C D 

QUESTION NO: 7

Which of the following statements are false? SELECT ALL THAT APPLY

A. A service enters the service consumer role only when it initiates contact with other service consumers.

B. A service enters the service consumer role only when it accesses other services acting as intermediaries.

C. A service enters the service consumer role when it initiates contact with other services acting as service providers, 
including those also acting as intermediaries.

D. A service cannot enter the service consumer role.
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ANSWER: A B D 

QUESTION NO: 8

Which of the following XML documents can be part of a SOAP-based Web service contract? SELECT ALL THAT APPLY

A. WSDL definition

B. HTTP definition

C. XML schema

D. WS-Policy definition

ANSWER: A C D 

QUESTION NO: 9

A SOAP message is an XML document that is comprised of a set of pre-defined parts. Which of the following are parts that 
can be found in a SOAP message? SELECT ALL THAT APPLY

A. Envelope

B. Body

C. Header

D. Footer

ANSWER: A B C 

QUESTION NO: 10

Which of the following statements is true? Select the correct answer.

A. WS-Coordination establishes a base coordination framework for which WS-Addressing and WS-Routing provide 
additional protocols and rules.

B. WS-Coordination establishes a base coordination framework for which XML Schema and WS-Addressing provide 
additional protocols and rules.

C. WS-Coordination establishes a base coordination framework for which WS-AtomicTransaction and WS-BusinessActivity 
provide additional protocols and rules.

D. WS-Coordination does not establish a base coordination framework. The name of the specification is deceiving as it 
actually defines a series of generic routing protocols.

ANSWER: C 
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